
∫
dt

ts
t
h

tc ta
=

−tc ta
ts

t
h∫

tsd− tc :

∫
tcd ts

inner subst

8 8tsd− 8tc : 7 7tcd 7ts

2 2t + 5sd− 2t + 5c

0|
√

π∫
dt

t2 + πs t
u = t2 + π

=
1

2

π
π
|∫

du

us = −1

2
π

π
|cd−1

t t2c
u = t2
=

∫
du

uc = us/2 = t2s/2

6t 3t2− 1sd− 3t2− 1c : 6t 3t2− 1cd 3t2− 1s

outer subst

ts tc−1/2d−
(
u = tc

)
−

∫
du

u−1/2 = −u 1/2

1/2
d−2 tc 1/2

2 ts tcd ts2 : 3 ts tc2d− tc3 : 7 ts6 tcd ts7

ts

1 + tc
d− 1 + tco :

ts
tc4/3

td−1/3

c
:

tc√
1 + ts2

d ts +
√

1 + ts2o

8
t
t
7

tc2
d t

t
8

power part int

t
2 ts : t tc : t tcd tc + t ts : t 3tsd1

9
3ts − 1

3
t 3tc

(t + 1) t + 2sd t + 2s − (t + 1) t + 2c

t
2 tsd

(
2− t

2
)

tc + 2t ts

t
3 2tcd

(
1

2
t
3 − 3

4
t

)
2ts +

(
3

4
t
2 − 3

8

)
2tc



t
5 4tcd

(
1

4
t
5 − 5

16
t
3
+

15

128
t

)
4ts +

(
5

16
t
4 − 15

64
t
2
+

15

512

)
4tc

π/4|π/2∫
dx

x 2cscx

exp part int

te tsd1
2

te
(

ts− tc
)

te tcd1
2

te
(

ts + tc
)

13 2te 3tsd 2te
(
23ts− 33tc

)
10 3te tcd 3te

(
ts + 3tc

)
34 3te 5tsd 3te

(
35ts− 55tc

)


